Exam I
Differential Equations, MAP 2302
Sep 15, 2016

Name: ?:' 2y ID:
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e You have 75 minutes to complete the exam.

e The exam is closed books and notes. You must show supporting work to get full and
partial credifs.

Problem 1. (20 points) Solve the following differential equation

(6zy +y* — sinz)dz + (32° + 2zy — y?)dy = 0.
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Problem 2. (20 points) Solve the following differential equation with initial value

x% + (22 + D)y =2z, y(1) =1/2.
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Problem 3. (20 points) Solve the following differential equation

(:c tan ( ) + y) dr — xdy = 0.
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Problem 4. (20 points) Solve the following differential equation

bz +2y+ Ddz+ (2z+y+ 1)dy =0.
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Problem 5. (20 points) Solve the following differential equation
‘ (5zy + 4y + 1)dz + (22 + 2zy)dy = 0.

(Hint: find a special integrating factor u(z).)
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